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20258 =& 2 3| Lets|H EXFE2

2 EXNNSD
N EXXH
oel: 28X EX2] (G2 &)
2A - HH . H(SH) - MRAIY - BES Ol AtK ol Al Hns2t
EXNE D 4,866,934 3,752,100 1,114,834
= 442,173 613,807 A171,634
< 232,125 142,125 90,000
Al 4,192,636 2,996,168 1,196,468
EXIA 266, 106 266,606 A500
= 70,120 70,120 0
[ 4,425 4,425 0
Al 191,561 192,061 A500
s8=0l X2 260, 181 260,681 AB500
= 70,120 70,120 0
Al 190,061 190,561 A500
HEHIR YA TAH 20,500 21,000 AB500
202 Ot 500 1,000 AB500
ENGE 500 1,000 AB500
NP2 HAEXEAL AREZ
20,0000+ 1H*253] 500 1,000 A300
DRSH SEA HeHEN B 5,925 5,925 0
< 4,425 4,425 0
Al 1,500 1,500 0
ZeH OhAL|OF £ 2 MHIA 29 4,425 4,425 0
[ 4,425 4,425 0
201 L2 A 825 1,425 AB00
< 825 1,425 AB00
01 AF222IHI 825 1,425 2600
FEHOMAIH|OF T2 MH|A E2H| 825 1,425 2600
[ 825 1,425 2600
301 LEEAS 3,600 3,000 600
[ 3,600 3,000 600
14 JIEt2 42 3,600 3,000 600
TREH ORAI|QF ALCHR} 4G 3,600 3,000 600
< 3,600 3,000 600
XI=z2te| 137,100 139,000 21,900
= 48,000 48,000
< 19,200 19,200
Al 69,900 71,800 21,900
NSNS 137,100 139,000 A1,900
= 48,000 48,000
[ 19,200 19,200
Al 69,900 71,800 21,900
=322 41,100 43,000 21,900
207 S1RIHEH| 17,100 19,000 21,900
02 HADHLH| 17,100 19,000 A1,900
APXNEA HASE ALY 17,100 19,000 A1,900




2A:
X{XH -
o /e
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EXEZ 1
NEZE 2l

S - T - BRI(EH) - MDA - BES il ko8 ol F o HimE=T
NEZE 2el 905,079 653,437 251,642
= 10,200 10,200 0
L= 208,500 118,500 90,000
Al 686,379 524,737 161,642
S4HEE 2 XHIA 29 498,552 246,910 251,642
L= 105,000 15,000 90,000
Al 393,552 231,910 161,642
SHESHA 2 43,827 76,310 A32,483
201 L2 32,827 65,310 A32,483
01 AtR2teld| 28,267 60,750 A32,483
EEGa AAIZE SHAAE SX2el 10,017 12,500 A2,483
SAXNE E2HE At 0 30,000 230,000
NEEZEAAE 29 124,725 140,600 215,875
201 EH2EH| 123,025 138,900 A15,875
01 AtS2teld 123,025 138,900 A15,875
PS4t & SUFSBAIAE KX 2| 111,721 125,900 A14,179
PSS IAIAY S 2t 11,304 13,000 21,696
CEMY =4 & K& 300,000 0 300,000
= 90,000 0 90,000
Al 210,000 0 210,000
401 AlEHIZL 048I 300,000 0 300,000
= 90,000 0 90,000
Al 210,000 0 210,000
01 Al&HI 300,000 0 300,000
EZ 4SEA HISBAIE 2= 300,000 0 300,000
L= 90,000 0 90,000
Al 210,000 0 210,000
ANHHH LD S-S 3,517,623 2,649,257 868, 366
= 313,853 485,487 A171,634
Al 3,208,770 2,163,770 1,040,000
DS XHHEHAS 3,517,623 2,649,257 868, 366
= 313,853 485,487 A171,634
Al 3,208,770 2,163,770 1,040,000
KIETHEALALY =& 313,853 485,487 A171,634
= 313,853 485,487 A171,634
201 L2 18,982 26,49 ANT,517
= 18,982 26,499 AT,517
01 AtS-2teld 18,982 26,499 AT,517
KETHEA J1EE =2 4,037 5,562 A1,525
= 4,037 5,562 1,525
NETHEAL 25| 14,945 20,937 Ab5,992
= 14,945 20,937 Ab5,992




2AM:

A XHHYH LRSS

el QMSHAXHAH 28 CEEEN

2A - ZH - HA(S) - MRAIY - BES Off koK J 3 A HwsZ
308 MXIEHISOIA 294,871 458,988 A164,117
= 294,871 458,988 ~164,117
13 212 SOICHEHZ 4 RIS AL 294,871 458,988 A164,117
NETHEAL S| 294,871 458,988 A164,117
= 294,871 458,988 A164,117
KIZTHZEAFAFS 3,203,770 2,163,770 1,040,000
201 ZEH= | 163,000 110,000 53,000
01 AFS-2teld 143,000 90,000 53,000

NEMZARE X7 ASTEE Y

EEX+F Zdl 40,000 0 40,000
PIEH(FY) LHEA S 13,000 0 13,000
301 LBEES 3,000,000 2,000,000 1,000,000
14 JIEt2AE 3,000,000 2,000,000 1,000,000
K EAAY =F2 3,000,000 2,000,000 1,000,000
401 AlEHIZSOHY] 0 13,000 /13,000
01 AlZHI 0 13,000 213,000
2VDIEE(EY) LHMEAL Y 0 13,000 /13,000
HY2IHH(EXNFED) 37,800 43,800 26,000
Jl=&tl 37,800 43,800 26,000
Jl=3H 37,800 43,800 26,000
201 Le+2| 27,600 33,600 26,000
02 3323H| 6,000 12,000 26,000
24E 2322 2 WA 6,000 12,000 26,000
Nees(EXNFE) 3,226 0 3,226
SAENE(EXNFEN) 3,226 0 3,226
=&HEHEE 3,226 0 3,226
802 BHet=0|E 3,226 0 3,226
02 Al - CHIBXZBre2 3,226 0 3,226
20244 0122 =S SN MH 3,223 0 3,228
20244 = OHAOF EEANHIA 29 3 0 3




